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PART - A / WMl - &
GENERAL INTELLIGENCE & REASONING / RIAI= Qfgal T& Fhviia

Dircctions :In question numbers 110 6, select the related
‘word/letters/ number from the given alternatives.

i 1 6 8 e T fae @ waforn i
P e
1 BLOCKED: YOLXPVW::_2_iOZFMMYS
(A) LAURNCH @ RESULIS
© LABOURS () DEBATES
2 Garbage:House ::Gangue: 2
(A) Factory (B) Office.
©) Drug (D) Ore-
(A FEE ®) FE
© s ) e
3. FIG:EGHJFH:‘BIN:_ 7
(#) CATIOM ® CAIMOC
© ACHMO © ACHMO
4 DBUEBZICIH: 2
(®) DMM ® DNN
(©-DMN ©) DNM
5. 6 82:e7: 2
W @4 O M
€& LomaEL
@ -0 ® 32 © 36 © 38

0. 4) 11 B 191 Q200 O 808
1. @) ERKU ® PERU

(© OKHA ) ANDI
2w @ Oz @

5. Aange the flowing words e ade i e
aictor

o ARETE S

@ Hale

@ Hamlet (9
A ©).@Q) ). (@
© &)@

® Hak» © Halt
(B) ®): (<) (). (). @)
) @) (). (e), (), ()

16 Ifthe words are organiséd in reverse order of what
they appear indictionary, which word will come in
the'third place
afe vl #1 A8 5% A yeaw o IE v
¥ wrafeera fen e A A e W -

I
(AY Oceutist @) Ordeum
© Odious ©) Odium

‘placed at the gaps in
?

e+ v e 7 312, e o el 4 fren

m« fhicl ]
(4) MAYOR (B LAWYER
(O GOVERNOR (D) LEGISLATOR
® ¥ ® =
(© T (©) favms
8 (%) ACUTE ® RGHT
(© OBTUSE (0) PARALLEL
@ = ® W
© st ) TR
w owmw ®1 O © 37

ey e e 150173, vl s o - e
B v T T 4 S g w2
15.  SH_ELAS_EELA_HEELASHEE_A

(A) EHSL. {B) EEHS

(© HHSS ©) ELHA
16. aba__ba “ab.

(/\y bhaba (B) abbab

© abbip © baabb
17, A2541 34123 _ 234

() 3212 ® 234

© 3241 © 1432

SPACE FOR ROUGH WORK / T% T4 & ferd s
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Find the missing number
@ Hem I
2,5,10,17,26,
R

Qv @
19, Introducing a man, a woman sai her is
the only daughter of my father”. How is \he man
related to the women ?
() Father ® son
© Unde ©) Brother
O O A G W A, T
T B 1 e o 1 e @
e Hafa 27

From the given alternative words, select the word
whichcannot be formed using the leters of the given
word.

Frifefea fawedl # & a5 7 gfw A foo m v

F tertt =1 e e T W o ww

"BOOK BINDING'

(4) DIGGING (u) BONDING
ING ) DOING

Which of the following jumbled word is nof an
imal 7

Fretferfea sroafena 7l 3 A @r-m 7= IR
7T #2

(A) LATHPEEN (®) TCRECK
(Q FEFEOC (D) TAR

@ fo ®'w
© == © ¢ 24, Namea single letter, which can be deleted from the
body of the following words to form entirely new
20, Il iscalled grecn’, green’iscalled blue’, blue’ words?
is taﬂkd sky >ky is called ‘yellow’, ‘yellow” is T WE B T 7 T F o Pt i A @
alled s water’is called “pink’ then what - T SR
Fetaemafiolly sky? by Ltigh s SRl
(A) Blue ® Sky .0 ® s ©or
@ Yellow ©) Water
‘e @ e R e @, | 25 acertaincoding systom, APPLE stands for ETTPT
A B T A, S e g;::l!slhenxl}mr'DELHl;g el
T e o s 1 AT RS ETTO DELT
FE A A W A F P EW2 okt il
(%) COMND ® corv
@ F ® s (© ZAHDE ©) HIPLM
e Wi
@ 4 26, If CUSTOM is written as UGTSMO then how
- PARENT! P ?
givenbelow: A CUSTOM 1 UCTSMO F1% ¥ foran < & @t
© virgs 5l 15§ PARENT .3 ferat s 2
© Volley ball @ APERTY ® RAPINE
(9 A highest scoring shot of a particular sport {Q TNERA] ©) ERAFIN
©) (Raina meaty percspbionn 27 In a cértain code, FRACTION is written as

A R ol Wl 3 Ferw e Hen qe

@ =

(b) afeft et

(@ Fad @ i ot T AT
(@) ¥ s

ws  ®ms 92 OF

FNAITCOR. How is QUANTITATIVE written in
thatcode?

et v § FRACTION R FNAITCOR ¥ 9 &
feren s & A 56 S T QUANTITATIVE S ¥

feren smm 2
w QIATAETUTNVI  (B) QTEATUIAVITN
QINAVIAITETU (D) QEAITATITNVU

SPACE FOR ROUGH WORK / 1% & & ferd wre.
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28, IF*+ means X", =" me
eara - them what il be the vatie of

SR+ A+ ﬁ]e 64~ sxuzwuﬁw

e

32

® -12

w1’ ®12 ©2u @1 |B 2 72 12
20, To identify the correct response from the given .k
premises stated according to following symbols.
‘A’ stands for not less than (4) Tite, @8 QB
34 ™
10
3]
E stands for less than (<)
“F stands forequalto (=) 1
Premises : 4YF3x and 3xF6Z =
: w0 ®12 @ D16
F o R P AT | oo Ravii walingin e Bt i\ Abcr coveriog
AR a distance of one kilometer, he turns 45° left and
P X)) Then 90 sight, In which dir8in £ he now 2
B o R E () @ I\{ovtm‘h . (8 NorthWest
A Sl D e
o i T ¢ ofa o fe F I @A e A1 gh @ e
) “m,ﬂ“", id 5 7 457 A A T 90 T IR T
3 ,tﬂ o o o fe o 42
”"”“F ;{‘:’":' () 3 ®) I
Tt 4Pz ot 3eF6Z ﬂ
) 4YB5Z ® 2z o aw ®
© D3z © ez 36, 'Veena and Veeru both start from a point towards
N North, Veena tums toleftafer walking 10km. Veeru
Veena

number from the given responses.
Forden : w7 W 308 347, fe e e R @ o7
T H

6 2 1
0, 4 8, 5 5
5 6 @

4

W B4 Q702 (© S
" @

@ 1231 ® 1321

© 1331 © 1332

waits for some time and then walks another § kin
Whereas Veeru walks only 3 km._They both then
return towards South and walk 15 k. How far is
Veena from Veeru?
w Sk

2km
ﬁwmﬁtzﬁqumﬁﬂmﬁmﬂmw
F §1 A 10 6 T ¥ A 53w
o oit g @ e ¥ A 2y W ¥ A FS
A ¥ fou R ¢ s fEo, s e
Tt T s feh wem ¥ R 3 36 2
feom ¥ ehed ¥ s 15 R e ¥ e @

(s) iy

g2
(3 8. ® 105
© 12 © 157

SPACE FOR ROUGH WORK / TF &4 % fod wmg.
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Directions : In question numbers 37 and 38, one or two

tobe!

D) 16,

35, Statement: A good book evenif costlyissold outin
statements is given followed by two Conclusions/ time.
Assumptions, Iand IL
y L
known facts. You are to decide which of the given 1. All good books arecostly.
conclusiors/ assumptions can definitely be drawn from (A) Only 1 follows
the given statement. Indicale your answer ) Only M follows.
ek e o 37 0 36 ¥, 1 4 ey o e
o ST 2 P/, 1 iR 1 & 3 v - o or g R g
T @1 o AT T § T O W e A phunih vy
et it @ 211 sy fofa e & s fam e 7 A s
ﬁ;ﬁgﬂmﬁmlﬁm/wmwmtl L T T R e e
1 W T T e A 2

37, Statements: Norod is pod=No pod is lexible. So () e T P £

nssumptions: ® S T o

G (© T 3T T a1 e 1
L Norodisfexible. (D) WL SR LA Fr 1
IL Semepodsare flexible. 3. Findoanthapiprberof e i tisfgure:
o 9 wEn

(A) Only inference I follows.

(® Only inference i follows.

(© Both o them follows. XX

(D) Neither of them follows. » X ® 19 © 18

a0,

T : W oS el T8 E 1 et e T

!
Lo

L o weel @

L 5 el w81

(a) e T Pt &1

® 3w w P #1

(© 2w e 1

(O) 2 A T A Pt

In the question one part of the problemfigure is
subracted. Selectthe option that shows the correct
shapeafter subtraction

0 ¥ 3 e S 1 s W S e
e fae e S rem v 5 9% € <@
L

Question figures/ Ve Tepfet :

BRI

Answer figures/ 3 ST :

o
W ® ©

D)

SPACE FOR ROUGH WORK / T &4 % ford st
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41, Directions: T

Whed three s, P

botiom.

fordor - 12 o il A D feerfeed i W E AR
Wa’ﬁ'{lﬁﬁﬁwﬂmwﬁ?

m) 5 ® 2 Q1 © 4
Study the diagram and answer question number 42

w1 oA w3 W Te 42 w1 IR
2. Thequalified and experienced doctors areworking

invillages represented by ?

e 3w s v S B A TR

foaT 3 ?

A Qulied doctors] —‘
L_] f\{penrmnd doctors/
O .,‘

2 :
e : W e 45 oM 46 7, FA-T I amER v

L

Answer figures/ S STt

REBR

)

Question figure/ WP I ¢

(/\) 2, 5 (Q 4 ('7) 5
Directions  In question numbers 43 and &4, Identify the

given below
e wo wew 43 34 W YW @ W@ F A
freAfafaa A & e A dan A i

43, Christians, Catholics, Pope

faré, i,
BEEXE)
« ®) © [G))

M. Vegetables, Potatos, Fatables

-®

-
® GID

(D)

(2]
7

%
LJD

From the given answer figures, select the gne in
which the question figure is hidden/ embeddd ?

Fré e e A8 v e ST ) T
w1 vt ffer 22
Question figure/¥¥ SMefir:

Answer figuies T AT :

SPACE FOR ROUGH WORK / % @14 & fed s
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41, Directions: T

Whed three s, P

botiom.

fordor - 12 o il A D feerfeed i W E AR
Wa’ﬁ'{lﬁﬁﬁwﬂmwﬁ?

m) 5 ® 2 Q1 © 4
Study the diagram and answer question number 42

w1 oA w3 W Te 42 w1 IR
2. Thequalified and experienced doctors areworking

invillages represented by ?

e 3w s v S B A TR

foaT 3 ?

A Qulied doctors] —‘
L_] f\{penrmnd doctors/
O .,‘

2 :
e : W e 45 oM 46 7, FA-T I amER v

L

Answer figures/ S STt

REBR

)

Question figure/ WP I ¢

(/\) 2, 5 (Q 4 ('7) 5
Directions  In question numbers 43 and &4, Identify the

given below
e wo wew 43 34 W YW @ W@ F A
freAfafaa A & e A dan A i

43, Christians, Catholics, Pope

faré, i,
BEEXE)
« ®) © [G))

M. Vegetables, Potatos, Fatables

-®

-
® GID

(D)

(2]
7

%
LJD

From the given answer figures, select the gne in
which the question figure is hidden/ embeddd ?

Fré e e A8 v e ST ) T
w1 vt ffer 22
Question figure/¥¥ SMefir:

Answer figuies T AT :
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few e fowesi § @ Arafa Fem ) g

. 4 e e A
3:11::7:_2 2488, 364, 412, 366
A 22 ® 29 © 18 ) 51 M) 2488 (B) 364 (O 412 ©) 366
How many 7's are followed by and preceded by | 47 “Find the missing number.
number's ivisible by 27 i I
2 fawfor 3R aweft W & @ i e frad 7 'Z; qu 1‘6
a2 192 28 128
7,2,7,6,7,8,7,54,7,857,67,2,57,3,7,68,5, 62 7 108
7,,7,67,2,7,8,6,7,2.5 W2 @232 @213 ([O21
@ @8 ©.120 1 ® 1 |48 AhousefocesSouth. Amancomingoutofhishouse
s H 10 metees and tummed 90 i ghe ant<lockuise
B o direction and walked 20 metes, He then
ey N e g I the cogtvidinechin e Wlked S metres snl
coac_as_aa_belbee again tumed 90 i thclockwise directon and
(& cabba ® bbb b e gk
© bhbbd ©) cbacb Whatwille the iseion faced by him ifhe urms
IfSELLER i Writien as UCNJGP, how can BUBBLE 45°in the clockwise direction ?
be written inthat code 56) gonm‘hv?;» 8 ‘zu$~&asl
1 fat Fe  feran mn @ orth -West uth - West.
TR i e ¢  wF 2f g 31 EH & e TEs A e
¥ e A BUBBLE 1 ¥ feren wem 7 3
(A) DSDZNC ® ZWZDIC wﬁwgﬁwwwﬁﬂmw\nmmm
© DWDDNG ©) 75z2)C R faia A 90° g 20 T weil) 7 AT
Name asingle letter, which can be deleted from the T e 50" T S e wen o 1t &
body of the following words to form entirely new, e 7 90° Wt 25 Hrex w1
words ? e = W fewm # 450 g ¢ @ 3w gE
T are T S A T v T e fean & dm?
et w2 ¥ A e () S ® e
RAPID RAPT  SPLIT svon_ SPON (© sw-vfEm (D) =z -fem
w P ® 1 o s
49, From the given alternative words, sclect the word
Substitute the appropriate nurmbers o make the which cannot be formed using thelters o the iven
equation correct. word
T FHT T 3 o g s feifa | m&w*ﬁwwsﬁmﬁww
— 20 F a1l 1 W FE T T T
10,2 ® 20,1552 INSTRUCTIONS
.5, ©) 30,5,15,2 (%) TURTION @ smoces
. © INSTRUCT
A e P s v 150, If MIRROR can be written as momn then how

cachother

total ?

T i 5 10 i 3 g A
forereft am wa e

(A) 100 B 20

How many hand shakes will there be in

© 45 D) 50

SORROW can be written?
#f& MIRROR #! RMOIRR foran 1w & @1

SORROW 1 ¥4 feran = wavmn &2
(A) ORROWS (8) SRROOW
(O WSOORR (D) WORROS

SPACE FOR ROUGH WORK / T &4 & ford siTg
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PART - B / 9T - &
GENERAL AWARENESS / HTHI=1 ST

Reserve Bank of India was nationalised in ¢
% T

@1 g 58 o g

®1997 @19 (© 1951 (©) 1949

NABARD standsfor

(A) National Business for Accounting and
Reviewing

(®) National Bureau for Airand Road Transport

(©) National Bank for Acronautis 3nd Radar

©) Natiorat Bank for Agriculture anid Rural
Development

WA, 3 (AT ) T e

() T fasem i e e F{Eﬁm

(©) %@ 4% R e 17w feae
Economie profit or normal profitis the same as

(3). net profit accounting profit

(@ ‘optimum profit (D) maximum profit
el T R FE A W A T CE R
¥

*) 1 @) e @

© sTEEEE () S

Serphasbudgefrecomumended doving
) ®)

Famines
« ) Depression.
< e s e ) et A

@ WIAHIE @) TSI
© wEIm O @ rEm

SIDBI stands for:
(A) Small Industries Developmental Banker
Institute

) Small Innovations Development Banker's
Institution

Small Industries Desigicd Dank of 1

Small Industries Development Bank of India

T A, TR A §

(A) A T feammiz da AR

() = ST femerrtz v et

(© =@ g feaées e sitw sfem

(D) T ST faeriz 3 St svsa

B

35

$5-2015/Page9

s6.

What is popular sovercignty ?

(A sovercignty of the head of state

8)) sovereignty of the people

(O sovereignty of people’s representative
(D) sovereignty of the legal head

T T g

(A T e g

® FmF T

(© I e T v

) fafi ¥t 71w

What is ‘Reformation’ 7

(A) Changein attitudé of man

(B) Revival of classical learning

(O The revolt against authority of pope
(D) Rise'of absolute monarchy
RN 74§ 2

(AT 35 ST R et

(B e 9 1 e

(© % T S e e

) v T v

Whatis plural voting system ?

(A) Bligible voter exercises one voteand some voters
with specific qualification's cast more than one
vote.

(B) Allthe citizens caste three votes each.

9 Only the fihergiinscaste more than one

© Candniam themselves caste more than one

wfwnwwmmwa?

(a) 5 et e e 2018 wen o el e
et A i e A

(B T st i A2 2381

(© ¥ 3R s 6w @ o A 2

() e @ v A i A 2 8



Voting s
) The e processby whch voters euerlse thlc ight

{# Thcpricsssol sekctingropresentaives.

(© The unit of area who constitute a unit for
clecting representative.

(D) Universal adult franchise.

TR T

() T fai & fored vt e e &3 % s
T w

® Wt & o afwa k)

(© W de T A wfafefy & foe 4w 7 g
A wm b

) oo hg i |

Constitutional Monarchy means:

(A) The king exercises power as granted by
constitution

(B) The king interprets the corstitution

(© Theking writes the constitution

() Theking |sele<\cdbylhepeep\e

Wt

@ Wmmnﬁa% A g

® tﬁlmvﬁuﬁa\wﬁ‘nﬁwm
(© T E H N T

(D) R T A 1 A A
‘Whatis the. curmncy of Saudi Arabia ?
(A) Pound (B) Dir (@ Riyal () Lira
T s

@ W @ dw (O e ) f

Who was the first Indian women presidentof the
United Nations General Assembly 7

Bangladesh was created in
e 20 F I
W) 1970 @ 1971

@
© 1972 D) 1973

552015/ Page10

G B QU TR Mo AL 1
British was. ghenin

ittt 9 wfeg e S e |
e g ?
(A) 1940 () 192

© 1941 () 1943

Who ivas the first speaker of the Lok Sabha ?

(&) BR. Ambedkar ) G.V.Mavalankar
(©) N.SanjecvReddy  (0) Dr.SP. Mukerice
A e A A
(A) o ST

(© . Wi

® el T
© g

Choose the correct option which represents the

arrangement of etmospheric ayers.

(A) Troposphere, Stratosphere, Mesosphere,
Tonosphere, Exosphere.

(® Mesosphere.  Jonaspi Evorphere,
Troposphere, Stratosphere
© lonsephere, Exisbire; Mesisphers;
Stratosphere, Troposphere
(D) Exosphere, Troposphere, Ionosphere,
Mesosphete, Siratosphere
T TR A F T N wE 7 oFaga
A

() (W v, Ty e, BT e, ST

A @ s wrEs

(B) R qvee, S qve, A T, TR
wosE, FH wE

(Q) ST FSE, AT S, WA HOS,
Uz, WA e

(D) I TS, TR AU, S AUE, T
g, F TvwE

Which of the followingis called the Light House of
the Mediterranean?

(A) Vesuvius of ltaly

(®) Strambali of Sicly

(© Mount Pelce of West Indies

(D) Parautinof Mexico

et % A FRA e I R T T e
27

) et Pt

(®) fomeh 1w

(Q vt v w1 TS et

©) B & e



3

Whichof e ollowingoption corectly explsina

the term-heat bud;

8T 1 the amenun of heat whichthe surface of
earth receives from the sun.

(8) Itis the radiation from the carth in the form of

8

‘The gene which exhibits multiple effects is known
as

() Complementary (B Pseudogene
(© Pleiotropic ®)_Polygene
8 3 7 W 1 T e & 9 e €

© in“ 2 modeof renster of hat through mate & e s

isamode of transfer of heat through matter ot et
by molecularacivty By (D) ¥
© 7. p

radiation. () Beadle and Tatum
fwel # & F1 w foew T oA, % “t\ﬂlsonns‘i‘gﬂck

3 ‘emin and Baltimore
o il SR ) () Har Govind Khorana
(A) T A AN ¥ G G A TOTH G & wfdl sffafs 31 @ fem o gd?
(B) 7® Yol ¥t Tl il F w9 A aw farnon ¢ (A) e q Tem
(© T TF T & T TR H A i E ) (B) A 7
(©) 7w 5T Fafem e it Fafieon @1 woge #1 (© i am AR
Granite, quartzitg areas have upstanding look 0) FIARRY

ause 74, Which of the following plant shows chloroplast
(A) these rocks afe noteasily eroded dimorphism
(B). these rocks are resistant (o al Kinds of erosion (A) Wheat ® Rice
(© noteasily worn down (© Sugarcane ) Sugarbeet
(©) mechaniéally weathered faster ot # 2 A W e T
IR, AT A W F TR Fw E i wefea wE 7
(A) ¥ ezl F fe s & T g (A) - ®
(B) A T @ W 3 % i & QT O TR
(© T A T 3

©) st w4 9 8 s 8§

“The ash-grey soilsof igh-Jattude coniferous forests
are known as:

(A) Crey-Brown soils

(®) Red and Yellow soils

(O Tundra soils

©) Podsols

I St 5 e F 7 w6 R o
RATATRE

@

(®) e 7o i g

© T@@™

@) drwin

Who of the following has given the term
rhizosphere

(A) Hiltner (B) Garret

(Q Alexopolus (D) Noneof llw mbovc
e a a rwa

) frem

(© T (D) wiw & i i

§5-2015/Pagell

7.

/An enzyme produced by HIV that allows the
integration of HIV DNA into the host cell’s DNA'
is

*) Li (® Helicase

© DRAgyrase (D) Integrase
T, G T TR & 5 A
AT F LA, F AT w
FmE:
@ i ®) Feliv

© A T © ¥

Microbial degradation of nifrates into atmospheric
nitrogen is known as

(A) Nirification (®) Denitrification

A\mmmh(anon (D) Putrefaction
AL & i A gt
ot 7w FEwm E
(8) TR ® fmdE
O s () ¥

“The two specific heats of gases are related by :
% A fafere w19 o gro W & -

?) CiC=Rl ® G SmE

© C/e=R ) Co-Co=KJ



Buens caused by steam are musch more severe than

tnose cousedby boling aterbecse

(A) Steamp pugh the| pok\of body quickly

(5] Tempatureol sesmistugh

(C) Steam is gas and engulfs the By quickly

(D) Sicam has latent heat

S W g e @ g 3 T A e S

A (1) @

(8wt i 3 s ot g e 4
TN w W #

(B) ST AT AgA v Fa

(©) 19 v A T A A A

!

() v T A A
Whichof the following particieshas the dual nature
of particle-wave ?

(A) Proton (3) Meson

(© Neut (D) Electron
o it wom-am A fw w

S &2

) W ®

© = © wRA

Radiouily was discovered by

(A) Curi (B) lk\Quuul

© n..umrum D) s

i 7 W 5 G ¢

o (®) @

© W © T

Whichof the Eolkw\ ing s in the ascending order of
Data hierarcl
() bit- hylc record - Fild - Dtabase-File
byte-bit- File - record - Database - Field
le-

(@ Fleld- byte- bit- Record - File - Da
(D) bit-byte-Ficid - record - File - Database.
frsfaten STl VT A s 2
() T . T - e e - e
@) w52 - faz . wRd - e é . seRE - wiee
(© WA - e - e - gy
A\ compute exccutes programs inthe sequence

(A) Decode,Fetch, Bxecute
ute F

(mqm,md\ ccute
S’FW s 1 e e -

@ 9, T
® fmw{ e, draie
(O 1, grer, ez
© =R &, G

55-2015/Page12

The metal ion present in vitamin Byyis

(A) nickel (B) cobalt (Q) zinc (D) wron
oot 3,3 i g e e T §2
@ f @ P O FE (o) s
thhmmnng«hc following is the sweetest sugar ?
(@) lac

D gl D) fructose
Frerfrfin 3 i 6w i w2

(@) Fw ® =i

© T ©) T

Muddy water is treated with alum in purification
process, it is termed as

(&) adsorption (B coagulation

(© emulsification (D) absorption
W e T SR R @
w4 & 7% Wb 0 FRArN X7
() s ®) s
(© T (©) s
Ulira p\mhmlvon of a metalis done by :
() sl (®) leaching
Q wrwmrlnng (D) slagging
15H TR o e &
(a) S ®) e
© s AR © =i

Which one among the following industries is the
maximum consumer of water in India

(A) Engincering. (B) ‘Paper and Pulp
(O Textile (D) Thermal power
R Freafetam fars e A # a w
sifirs w87

(&) syt B) F o v

(© T () e TR

‘The laferof atmosphere close to the earih's surface
s called

(A) Exasphere (®) lonosphere

(© Stratosphere (D) Troposphere

g7t s T O AT el A e e e et
27

()t
(© WA

® R
©) e



Evergreenype Forests are found in
(A) Equatorial region
(8) Mansoon climatic area

() Desert region
©) Mediterranean anregion

TR 7/ I E

(A) e T @7

(B) TR FEFARE 47

(© T

(©) yEEET i

Day and Night are equal at the :

(A) Equator ) Poles
(O PrimeMeridian (D) Antarelic
51 ¢ fit e 0 o A A

(#) praTE ®) %

(© TyETE (), et

Swaraj is my Birth Right and I shall have it. This

‘was advocated

(A) Lol Lo Ra () Lokmanya Tilak
tma Gandhi (D) Sardar Patel

mﬁﬂwf«zmﬁ?ﬁ%aﬂ(ﬁiﬁwﬁ(@m

g feRl A0 2

(), T I T (B) S o
(© g it (D) HEm T
Pulsesareobtained from m fnm:]v

@ F (!» Liliaceae

(O Creadacese (D) Leguminosse
o TRl 7 e A W e €

{A) #a® ®) foedE

(© weEE (©) et

The One Rupee Note bears thesignaturé o :
(A) Secretary, Ministry of Finance
Bank of India

A 5 e P TR AR
(A fom v e &
(® o S o feeen 35 e

© fE

©) T A T

Which among the following is a folk dance of
(&) Manipuri ® Garba

© Kathakali (D) Mohiniattam
FaeTfafan & 3 W A e €

() T ® T

© wwh (D) Hfefrgs

552015/ Pagel3

95.

First Nobel Prize to India was given for:

(A Phy @) Literature

(O Medicine (D) Chemistry
mmmwamwrmzmmm

(A) ifret
Q) sirafi fo

® i
(©) T

Best way Lo conserve our water resaurces

(4) Rainwater harvesting

(®) Sustainable water utilization

(O Encouragement of natural regencration of
vegetation

) Allabove

S A A T 3w ¢

(&) =9 5 v ¥

(B) WA W IR

(© Wl wEta e e T

(©) IR Tl

‘The bestmiléhbréed in the world is

(A) Chittagong (B) Deoni
(C) Holstein-Friesian (D) Sindhi
a1 g €

(A Pzt ® fesg
© wERwEEA (D)

Who initiated the movement to form the Indian
National Congress ?

(&) AO Hume ®) W.CBann

(© Annie Besant ©) Gandhiji

WA W FHE F T R I

TEHE A 2

(A) T g ®) T .

[CRc ki (D) TS

In which year the indian National Congress

formed?

i v i ) e T g

@8 @) 1885 (© 1901 m, 1875
i Raja I(ammohan Roy was the founder of

(4) AryaSamaj (B) Brahmo Samaj

©, RamKrishan Mision () Prarthna Same]
T T T T EA W

(A) 3 ®) w

(© T R (D) W T
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PART - C / ®rT - 71
QUANTITATIVE APTITUDE / WRwronerss susfe

If 7 of anumber is 7 more than & L of the narmber,

then 3 2 of herumber s

e e w1 ; wmt%z}ﬂﬂtﬁt{a}

mmmg%:

w2 ®15 Q1o
The least number sehich wéhen divided by 6,9, 12,
15, 18 leaves the same remainder 2 in each case, is :
5 e e TR 6,9, 12,15, 188 Fasfo e
w0 s T et 2 7 -

W16 B 178 Q180 () 182

.4 meni'and 6 women complete a work in 8 days,

2 men and 9 women also compiete in 8 days. The
number of days 18 women complete the work

af 4 o9 3i 6 ferat ot o i 5 ol A qu
Faroofori i e A A W@ &1
18 feral 3 e A fopat il A g ot 2

@ 53 days/fen ® st days/fin

© 4% dayy/fn ® 43 days/fe1

A's2days work isequal to B's 3 days work. If A.can
complete the work in 8 days then to complete the
work Bwilltake

A F 2 el @ wr B & 3 el & wr F ava )
aft; A 3wl 6 fefi A wen # 6 p s A
o el qum 2
(A) 14 days/fea

(© 15 days/f1

® 12days/fet
) 16 days/fET

105.

If 4 men or § women can do a piece of work in
5 days, in how many days can 6 men and
124vomen do the same piece of work ?
2z 4 5w s g el frei e =1 el
et €, 6 o 3l 12 ol weft o ) e fed
AT EFE?
(A) 45 days/fer
(© 30 days/f

® 15days/f

) 20 days/fe3

1 the altitude of an equilateral triangle is 123 cm,

thenit's area would be

R o wg fw W e 1205 am ¥ @

THT A T2

®) 72em? ®) " 144/3 em?

© 363 em? ©) 12em?

If the volume of 3phere is numerically equal oits

surface area, then its diameter is

e T T F A S w9 @ 30 TS

AT WD AL ¢

@2 @ 3am @ 4m @) 6em

perzons will e na tent, I ach person requires
2 of floor are: n the.

hmgh( e cone ofsmlle i 0 scommadie

those persons would be:

5 wfw uw 2= § @ At voF At A 16w

T & it g 3 o 100 m 5 sy v

#3137 St 1 S T 23 5 o e S

i 91 3 e A2
® 20m ®,1875m
© 16m ®) 1025m

Find asingle discouriteguivalent toa discount series
0 10%, 20% and 25%

10%, 20% &1 25% T2 @ & qo7 A T W
w1

M) 5% @) 5% © 4% O 52%
Aniarticle whichis marked at €975 s s0ld for 2897,
The % discount is

2975 sife e A v AR A 2897 A I
NN
@ 6% @) 8%

© 0% © 2%

SPACE FOR ROUGH WORK,/ T% &4 & ford wre.
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PART - C / ®rT - 71
QUANTITATIVE APTITUDE / WRwronerss susfe

If 7 of anumber is 7 more than & L of the narmber,

then 3 2 of herumber s

e e w1 ; wmt%z}ﬂﬂtﬁt{a}

mmmg%:

w2 ®15 Q1o
The least number sehich wéhen divided by 6,9, 12,
15, 18 leaves the same remainder 2 in each case, is :
5 e e TR 6,9, 12,15, 188 Fasfo e
w0 s T et 2 7 -

W16 B 178 Q180 () 182

.4 meni'and 6 women complete a work in 8 days,

2 men and 9 women also compiete in 8 days. The
number of days 18 women complete the work

af 4 o9 3i 6 ferat ot o i 5 ol A qu
Faroofori i e A A W@ &1
18 feral 3 e A fopat il A g ot 2

@ 53 days/fen ® st days/fin

© 4% dayy/fn ® 43 days/fe1

A's2days work isequal to B's 3 days work. If A.can
complete the work in 8 days then to complete the
work Bwilltake

A F 2 el @ wr B & 3 el & wr F ava )
aft; A 3wl 6 fefi A wen # 6 p s A
o el qum 2
(A) 14 days/fea

(© 15 days/f1

® 12days/fet
) 16 days/fET

105.

If 4 men or § women can do a piece of work in
5 days, in how many days can 6 men and
124vomen do the same piece of work ?
2z 4 5w s g el frei e =1 el
et €, 6 o 3l 12 ol weft o ) e fed
AT EFE?
(A) 45 days/fer
(© 30 days/f

® 15days/f

) 20 days/fe3

1 the altitude of an equilateral triangle is 123 cm,

thenit's area would be

R o wg fw W e 1205 am ¥ @

THT A T2

®) 72em? ®) " 144/3 em?

© 363 em? ©) 12em?

If the volume of 3phere is numerically equal oits

surface area, then its diameter is

e T T F A S w9 @ 30 TS

AT WD AL ¢

@2 @ 3am @ 4m @) 6em

perzons will e na tent, I ach person requires
2 of floor are: n the.

hmgh( e cone ofsmlle i 0 scommadie

those persons would be:

5 wfw uw 2= § @ At voF At A 16w

T & it g 3 o 100 m 5 sy v

#3137 St 1 S T 23 5 o e S

i 91 3 e A2
® 20m ®,1875m
© 16m ®) 1025m

Find asingle discouriteguivalent toa discount series
0 10%, 20% and 25%

10%, 20% &1 25% T2 @ & qo7 A T W
w1

M) 5% @) 5% © 4% O 52%
Aniarticle whichis marked at €975 s s0ld for 2897,
The % discount is

2975 sife e A v AR A 2897 A I
NN
@ 6% @) 8%

© 0% © 2%

SPACE FOR ROUGH WORK,/ T% &4 & ford wre.
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123 1 x = ! then (r+ 1) equalsto:

Z+1
ik e 2
awx ‘E”%th)fﬂt#gﬁ%

@2
© (z2-1

Among the equations x+2y +9=0; 5x—4=0;
29=13=0;2c-3y =0, theequationofthe sragh§
line passing through origin is

WAL 4.2y +9-0, Sx—1-0; 2y~ 130;

20-3y=0 7 % 7 g B T Aoy W
TFR

® (VZ+1)
D 2

®) x+2y+9=0 ® 2y>13
5x-4=0 ©) 23y

‘The HCF of £~ 1 afd x44 2~ 2x—1is

A1 3420 22v1 F1 TRE TS § -
@ x-1
@ x+1

125.

® -1
©) 241

Lk WP RE:

A 322 (B) 343 (Q 432 D) 433
127. Thearea of thetriangle formed by the graphs of thie-

equations x=0, 2x + 3y =6 and-x+y=31s -

(8) 15q, unit ®) 3sq.unit

1 1

© 45 squnt © 155q.unit

x20, 26+ 3y=6 31 x+y=3 T A 3§ T

g 1 o &

(&) 17 R @® 37 afre

© 43w o 13 T
128. 1fp=99, then the value of p(p?+ 3p-+3)is :

U p=99 § 7 p(p? +3p+3) T AL -
@ Sponos ®) 998889
Q@ 999999 ©) 988899

129.

132

1f the number of vertices, edges and faces of a
rectangular vzrnllalkplped are. dennlsd byo,eand)

respectively, the value of o ¢-+1) s

. el WA S T S W, W ot

il 1 e 1 F: o, S £ P

SR, W (o) T

()2 ®o @1

© 4

Ifthe measure of three angles of a triangle are in the
ratio 2:3: 5, then the triangle s
(A) obtuseangled () isosceles

(© equilateral (D) rightangled

2 ol B 5 e PO T 23,5 S HE,
A g 2
(@ stz
© g

-
)
1€ the three angles 9F a triangle are (x +15%),
[‘J u,-) [ZTX +3o‘) Then the triangleis :

() isosceles
(@ rightangled

ARG B F A 5 15’\,(%' ‘e

®) equilateral
©) scalene

(_m-]tmfugm
() g ®, 7
(© wwaviz (D) fore arg

Gis the centroid of AABC: The medians AD and BE
intersectat rightangles. 1f the lengths of AD and BE
are9 cmand 12 cm respectively; then the length of
AB(incm)is;

G, AABC %= ¥1 WA AD IR BE T
T SRR T &1 A AD i bE A o wm:
S, 3 12 A, ¥ A AB F1 T (FA. )
T 82
@95 ® 10

©1s ©On

SPACE FOR ROUGH WORK / T% T4 % ford sre
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133

134,

135,

136

137.

138

Tnternal bisectors of £Q and /R of APOR intersect

atO. If ZROQ = 96° thenthe value of ZRPQ is

APQR F £Q R g F wlcE w0 W

Wiwe # ¥ A LROQ = 96° &, T LRPQ F1

mE:

we ®1r 0w O3k

Tfa person travels from a point L towards east for

12 km and then travels 5 km towards north and

reaches a point M, then shortest distance from Lo

Mis:

i s o g L A g o 12 P e e

S a5 ol v e & afe g e g

FALIMA @

(@) 12km/fER ® Vkm/fE

© 14km/fEAL (©) 17 km/FEA.

Let C, and C, be the inscribed and circumscribed

circles of a triangle withsides 3cm, 4 cm and 5 cm.
area of G

Then W: is

A € TR C, T e st siwfge &

o et 3 A, 4 B s s A i@

L‘L“L‘“ &
G

16 4 9 b
Wx B Ox OFfF

1D, E and F are the midpoints of BC, CA and AB.
respectively of AABC then the ratio of area of the
parallelogram DEFB and area of the trapezium
FDis.
AR AABC F BC, CA 3R AB % wi: 7oA fag 0, &
ShE ¥ A wiT T DERB ¥ v 3R FEa
CAFD ¥ Q% 1 {9 #4137
@23 @13 Q34
The minimum valueof 20’0+ costis
25in?9 +3cos% H1 <[ TH
w1 ® 2 o3 © 4
The value of sin222° + sin%8° +cor?30° s -
5in222° +sin%68° + cot?30° F WA

o 1:2

5 3
@3 ®: Q7 O3

139

1 55in8 =3, the numerical value of &" ia09
tane

142,

s =) ol
)

© )y+%,p80 © p—l,pxo
1 0 be acute angle and tan(49™50°) =cot(30° ~6),
then «\\e value of  in degrees is:

¥ 31 tan(0's 50°) = cot(50° - 0) &, A
et ﬂ oF AR
W20 @30

©40 @ so

Ifthe sum and difference of two angles are % radian
and 36" respectively, then the value of smaller angle
in'degree taking the value of mas % is

e 2 it 1 9 SR SR F: 393 e s 360

& Sl AT o T 27_3 T S A STaTE T
T

@ @2 O O -6
Akiteis flying at the heightof 75 from the ground.
i)
15
with the level ground.  Assuming that there is no
slack in the string, the length of the string is equal
W

T AT A 75 o #) ¢ w o W@ E
TEF B0 4fF F ' F o W oW oA W B

(mﬁmm £ ) e ot 0 o
9 90 3t fat 12
) 8m B 75m (O 40m

The string makes an angle 8 (whcm cotd =

© em

SPACE FOR ROUGH WORK / T& &4 & ford strg.
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Directions: Given here a multiple bar diagram of the scores
of four players-in two innings. Study the diagram and
answer fhe questions no. 144 0 147

oo el AR faenzAl & il % w0 A ag w- s

o TR S F AT FE S T FE 144 d 147
=IME

1% imings
O%aes
[ sl and Doings

MAHENDRA VIRAT\CHETESWAR SHIKHAR

Directions : The pic-chart given here shows expenditure

avings
Study the chart and answer the questions number
148 t0 150 based on the pie-chart

fordon : 70 T T wfeart v fafum
aret SRS T H TN V0 E T T A
W SR 148 B 150 7 F 0w IE)

SINGH KOHLL  PUIARA - DUAWAN
BHoNt Cloth
wetw | fR dww s |
L e gem =
144, The aséhagerun of two innings of the play 8. Th wsavingsis
scored highest inaverageis ) >
ks
Al & e A T e w3 A e Y Wi e o
Awa e A3 ® 3:2 ©2:1 @109
W B O O
149,

The average ran in two innings of
has scored minimum at the second inrings is'
T A w9 T e
2l it % S T E
W B0 Q40 30
The total scores in the first innings contributed by
the four players is

e i = e v e o v g
=

@19 @200 (©200 (@220

147, The average score in second innings contributed by
the four players s
Tl = faentedl w1 s =

) 30 ® 0 @350 60

that of housing then the expenditure on food
2

ATz o w2 T TR e A 2 1600 37 ¢ A e
R

(4) 212,000 ® 26000
© 23333 ©) 27.000

150, If themonthl income is T 36,000 then the yearly
savingsis
AR T 31T T 36,000 & A AGF T4 &
) 760,000 ® 270000

© 274,000 ) 272000

SPACE FOR ROUGH WORK / T% %t & ferd W
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FOR VISUALLY HANDICAPPED/CEREBRAL PALSY CAI\D[DI\TES ONLY
it snfteant &

Hae gieanfis,

The least integral value, which can be given to * so
that the number 97215+ 6 s divisible by 33, is

* @ fem w7 e T = S W
o e 972150 6,33 @ favea

™o ® 1

© 2

Giventhat V55 =742, edaluate Y11+

15,
-5

7o QWIS

= e

@ 514
© 7#

® 642

® 771

One internal angle of a regular polygon is 172", Find
the number of sides of the polygon.

o A A 172§ A W
sl 71 e 7T
) 52 ®) 40
™5

©

The ratio of two numbers is 7: 8 and their sum is 75.
The L.C.M. of the two numbers is.
& sl 1 s 78 & o T AN TS 1 T
< S 1 e A
@ 250 ® 175

© 20 ©) 280

148,

149,

150.

Ina partnership business, the ratio of A, Band C's
inyéstments is 5: 2 : 6 and the ratio of time they
ifivested foris 2:3: 4. Their profit ratio will be

T A FEERCE A, B A C s
5:2.6 % 33T W A A A T3 4

#1 T I 7 S g2
™ 5:3:12 ® 3512
© 3125 o 12:5:3

Atrain covers 108 km 2hrs, 36 ken in the next
Ralfan hour and 90 konin next 2 s, Iis average
speed s

(A) 48 Km/hy () 50km/hr

©s2km/hr ) 54km/hr
T T e 2 5 108 AL, S A R
36 f, 3 3R 2 W 90 . 7 30T
FA 1 I ofvwa nfa §

(A) 48 TF /T ®) 50 &/

© s/ ®, 54 st/

¢ of 40% and 20%
The number is

50% of the differ of anumber

exceeds its 5% by

Faaafean & a0% it 200 3 st a0 g o

Fop wfuF 71 aF wen
(4) 200 (B 400

© 600 ) 800

SPACE FOR ROUGH WORK / T @ % fera wme
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PART - D
ENGLISH COMPREHENSION

irecti i 15110155, some p:
the sentences have errors and some are correct. Find out
which d

rectior stions number 156 to 160, sentences
ngn with Dlanks 10 be filled in with an appropriate
ord(s).

(AB.C) Ifa | C dindicate
itbyB -
to (D) in the Answer Sheet, Shect
156, When the morning the murder was,
discovered.
B @) occured ® happened
13 Hegunis/abashetalglayersins/ © ame ©) amived
i, 157, The appearance of thecity __ day by day.
B R (M) had changed (), could change
(@ changed (0), is changing
158, The smell o the sca called _______memoriesof
152, Just autside my ouse / are aplayground / hgmchiigiood.
(), ®) @) on ® up (@ back ([ for
forschool. boys and girls. / Noerror 159, The palice fired on the mob when they
© ®) (A) fizzled out (8) tumed violent
(© becomeabusive (D) turned noisy
160, He has the full facts butis delibezatély
152 Mo/ dosouthink/ Lt/ Noetor iding them.
) @ (A) up his sleeves ® inhis sleeves
(Q underhissleeves (D). upon his sloeves.
156, mm%uM/mum_(émum/ alternatives, choose the one which best expresses the
o ‘oh
161. BOARD
hileshasousis /Mo () Lodging ® Fame
) © (O Furhiture ©) Food
162 SPUME
155, Abirdin the tree /is worth / two in the bush. / W't () Fotsan: Q) Fouy D) Lavy
A (B) ©
163, TERUSE
_— (&) Read ® Reduce
© © Argue © Follow

§5-2015/ Page20




Directions : In questicns number 164 to 166, choose the
word opposite in meaning (0 the given word and mark it
inthe Answer Sheet.

Directions : In questions number 172 to 181, a sentence/a.
part of the sentence is underlined. Below are given
tternativey o the underlined parat (8), B, (C) which

164, VACILLATION
(@) remorse ® relief meompmvm«.meededveurmswms(m Mark
(© inoculation ) steadfasiness yputanswer in the Answer Sheet.
172/ She could ot help but laugh.
165, EFFEMINACY (A) laughing ® butlaughing

(%) Aggressiveness  (8) Aftractiveness © laughter D) toimprovemént

(© Manliness (©) Boorishness
A PG 173, Wemet yesterday, haven'twe?

@ dull © Yghwd (@) didntwe?  ®) hadntwe?

(© moving ® stormy @ isntit? ©) roimprovement
Directions : In questions fumiber 167 to 171, four | 174, [ took my mother some gfapés when she was in
u res hospital

e sentence. ® ) Toroughtmy S
= (®) Itooksome giapes for my mother
167.  Instead of

offcawork, he justeft me high and dry. (©) noimprovement

() Tt me withouta drop of water

(®) leftmealoneto do the ‘

_ . The World is being faced with a
@ leftmefeelinglike a fool Wi v s
(©) Iohtmeinastate of anger ) confronte ® hcing
© infrontof ©) noimprovement
168, Unless you the loss, nobody i

‘prepared to excuse you. 176, Both the teams played the game fairly.

(A) pay debt (B) confess (A) fairly played the game

9 compensate ©) improve, (®) played fairly the game
169. ' Before the report reached the authority the media (© playeda fairgame

(©) noimprovement

(A) spilled the contents of the package

(8) dropped the charges 177. The others shook theifheads and made vague noises

(© revealed the secret information of approval.

(D) hinted at the consequences (A) turnedaround ® nodded

i ent
170, His friend turned out to be a snake in the grass. O g ) neimprovem

() cowardly and b ¥ §

(B) an unreliable and deceitiul person 178. ¢ [will get an opportunity,  shall atend the seminar

(Q ahidden enemy (A) shall get ®) got

©) low and mean © gt (©) noimprovement
. “Don't mak 179 ——

amolehill.”

(A) create problems

(8) exaggerateaminor problem

(Q attemptan impossible task

(D) startlooking for molehills in mountains

55-2015/ Page21

(A) norhe does smile
(8) neither he does smile
(© nordoes he smile
(©) noimprovement



180. She insisted o she was innocent,

i 10200,y
passages with 5 questions following each passage. Read

(&) insistedonthat () insisted that
(Q insisted with ©

question out of the four alternatives and mark it by

. You must endure what you cannot cur
e ;x] pmv‘jﬂ_dL "M[CB, i PASSAGE-T (Questions number191-195)
© suffer ©) noimprovement g eoe o i ispaps |
a but
4 : out | Relp s readers to express themselves more effecvely.
ernat can i
ihe given words/sentences nd indict t by backer-| Gemanc. A mewspapes should et tecommority i
(] S| - dall. i
T orusscns ompeeor e reveals neglect, injustice, igrorance or complacency. It
(A) Fugitive ® Crimifal should help to eradicate them. It would be pretentious to
© Thiet (D) Smuggler hink that a newspaper can change the course of world
affairs - but at the local limit it can exert influence, it can
b i F' voice
- o Ca mpreiont must not be stifled. Instead, the readers should be
(@) impru P! encouraged to express their opiians; fears, hopes and or
€ impractical ©} fimpeent their grievances on this platform.
191 Whatis the main purposé of anewspaper? .
Sl ¢ i ¢ vt i Y (A) Topresent factsina blunt way
@ d“"’,‘””b" ® e (B) Encouragethe readers to be pretentious
© defpible +(0) laudable © Plojéétnews objectively and imaginatively
; individual
115 O owntreewil (D) Bxertinfluences on the individuals
e ® lsor
L:) 3::54“:3 ((D’) :mw;y 192 Intthis passage the writer highlights the fact that
3 (A) Newspapers can eradicate injustice
186, Astudy of ancient things 03 s e i chaepinn o4 0
() Aschacology (B) Ethnology ok
e, o (9 Anewspape shouldreflec the cominriy i
newspaper: onlocal
187 Onewhois skillful. (P2 neueppershould coly Qe
() diligent diffrent
Qi disiptined O keterous 193. How can a newspaper influerice local affairs ?
(A) By influencing public opinion through half
188. Omwhohulongexpenen:e A5y 8P P s
{4} vor ®) expert (8) By focuing on'world affairs
«Q P“‘ oner ©) veteran (O By/probinginto the ills of society and rallying
Directions : ber 189 to 190, four words ke hange
rections : In questions number 189 to 190, four words D e e i
are givenin each question, outof which oniy one word is e i S et
correctly spelt. Find the correctly spelt word and mark :
youranswer in the Answwer Sheet 4 < —
189. (A) circumlocution  (B) circmlocution a :f\") foipnsinbind it
f 5 y writing to their local newspaper
(@ circumlocstion (D) cizcumiocatien e
19 () Diffussion ® Diffusion (© By supporting thelocal newspaper.
(O Defusion (D) By being complacent.
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195 “wartsand all 196. . ¢ means
(A) the reader's grievances (A) Fairs and festivals
(B) thecommunity’s problem (B) Habits and traditions
(© hopes and fears (O)-Usual practices and religious rites
D) with no attempt to conceal blemishes or b SR
inadequacies R¥lpe 2
PASSAGE- I (Guestions number 196.200) 199! :'Vhlth oneaof the olowing staemens ismplid in
True, it s the function of the army to maintain fai.
A (A) Peaceful citizens seldom violate the law.
(B) Criminals, who flout the law, are seldom
with due regard 1o the rights of others. ‘The force also broughtto book
tects the lives and properties of law abidi Laws
profects e[y il properies o angb o en. Laws © 'ﬂ\epuhcehardlv su(cevd in converting bad
violence. citizensint
‘good or bad, from violating the law.
out their customs and ceremonics, o long as they do not
t
his own free will, obeysthese laws and he takes care that | 200. “They are made to secure the property of citizens

everything he does is done with due regard to the rights
and well-being of others.

Buttfiebad citizen is only restrained frombreaking
these laws by fear of the consequence of his actions. And
the necessary steps to compel the bad citizen to act as a

of law and order in a state i in the hands of a Minister

the Inspector General of Police.
196 Whichof lh¢  following statements is not implied 1
+the passay
@ Law pmms those who respect it
® Law ensures people’s religious .na social
rights absolutely and uncondii

Acriminal i deterred from commmmg crimes
only for fear of the law.

The forces of law help to transform irresponsible
citizens into responsible ones.

©
®)

According to the writer, which one of the following
not the responsibility of the police ?

(&) To protect the privileges of all citizens
®) Tocheck violent activities of citizens.

To ce among citizens by
sakeguardie anidudt rights.

) To maintain peace during extra ordinary
circumstances.

55-2015/Page23

against theft and damags”, means that the law :

(A) Helpsiin recovering the stolen property of the
citizens

2

it o clicany e propry s bon
stolen or destroy

o)

Initiates process agalmlof’endn‘,xs oflaw.

3

Safeguards people’s possessions against béing:
stolen or lost,
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